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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. "Accounting forms an important part of the 

information system of an organisation." Discuss. 

Also identify the parties interested in accounting 

information and the way it helps them. 	10,10 

2. (a) What are operating and non-operating 10 

profits ? Explain with examples. 

(b) What do you understand by "grouping" 10 

and "Marshalling" of assets and liabilities ? 

Discuss. 

3. Explain the essentials of an effective budgeting 8,12 

system, and state the requisites of establishing a 

system of budgeting. 
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4. (a) Distinguish between Standard Costing and 10 
Budgeting. 

(b) How do you ensure the success of a 10 
standard costing system ? Explain. 

5. Discuss the role of ratio analysis in evaluating 12,8 
profitability of a business enterprise. Also state 

its limitations. 

6. Define cash flow statement. Give its format as 4,8,8 
per Accounting Standard 3 and state its uses. 

7. (a) Explain the concept of Responsibility 12 
Accounting and state the requisites for its 

success. 

(b) Write an explanatory note on Social 	8 
Accounting. 

8. Mukta Ltd furnishes the following information 

relating to budgeted sales and actual sales for the 

month of March 2010. 	 5,5,5,5 

Standard Actual 
Product Rate Rate 

Units ( 
Rs.) (Rs.) 

A 1200 15 880 18 
B 800 20 880 20 
C 2000 40 2640 38 
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you are required to calculate : 

(a) Sales price variance 

(b) Sales volume variance 

(c) Sales mix variance 

(d) Sales quantity variance 

9. 	Neha stationers manufacture plastic files for 
office use. The break up of its cost and sales is as 
follows : 	 5,5,10 

• Variable Cost Rs. 60 per file 

• Fixed Cost Rs. 80,000 per annum 

• Production Capacity : 4,000 files per annum 

• Selling Price : Rs. 100 per file 

you are required to compute the following : 

(a) Break even point.  

(b) Number of files to be sold to earn a net profit 
of Rs. 20,000. 

(c) If the firm manufactures and sells 500 files 

more per year with an additional fixed cost 
of Rs. 4,000, what should be the selling price 
to earn the same amount of profit as in (b) 
above ? 
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